Mathl101, Quiz # 2

Name:
1D #:
1. Find the values of m and » for which the function

x if x<1
. f(x)=<{mx+n if l<x<?
For Fon) 4o b2 Cone. 42 if x>2
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2. Show that the equation e~* = 2 — x . has a root in the interval (l ) — gz‘é = V=D m = 2
What is the name of the therom you used. ' ;3 =5
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3. Let f(x)= Jx . Find the largest value of & such that ' Jx =2 I < 0.1 whenever

0<|x-4|<d.(Hint: use the graph) S, = »E«*-%” {HNQ 3G
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4. Use Graph of f (x ) = — to find the largest number & such that if 0 <[ x -1 [< 0,

then }f (x)-1 |< 0.1. ¢ Show your work and write your answer in the simplest

rational form)
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